Challenge
Missing number - Division



O.         ÷ 3  =  27
P. 405  ÷     =   9
Q. 462 ÷      = 7
R.         ÷ 12 = 4
S.         ÷ 46 = 8
T. 268 ÷        = 4
H. 62 ÷      = 2
I. 48 ÷      = 4
J. 93 ÷       = 3
K. 288 ÷    = 4
L. 136 ÷     =  2
M. 192 ÷    = 8
N. 245 ÷     = 7
A.      ÷ 6 = 23 
B.    ÷ 4 = 72
C.    ÷ 3 = 28
D.    ÷ 2  = 123
E.    ÷ 7  = 67
F.    ÷ 4  =  38 
G.    ÷ 5 =  72












U. 81    ÷ 3  =  27
V. 405  ÷  45   =   9
W. 462 ÷ 66    = 7
X.    48   ÷ 12 = 4
Y.   368    ÷ 46 = 8
Z. 268 ÷  67    = 4
O. [bookmark: _GoBack]62 ÷  31  = 2
P. 48 ÷  12    = 4
Q. 93 ÷   31    = 3
R. 288 ÷ 72   = 4
S. 136 ÷ 68    =  2
T. 192 ÷ 24   = 8
U. 245 ÷  35   = 7
H. 138     ÷ 6 = 23 
I. 288   ÷ 4 = 72
J. 84   ÷ 3 = 28
K.   246 ÷ 2  = 123
L. 469   ÷ 7  = 67
M. 152   ÷ 4  =  38 
N. 360   ÷ 5 =  72


